PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
25th July 2016, 03:00 PM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

Which of the following is a source of income of the Gram Panchayats? / o o § 9 91 I vErEd @1 o
T ¥ 82

® TIncome Tax / STADBY

e Sales Tax / foshi®e

® Professional Tax / ATAATAD B

® Levy duties / Srfafyad a2
Correct Answer :-Levy duties / 3fa¥e %
2)

Question Stimulus :-

A farmer grows 3 crops in rotation — Rice, wheat and Jowar. Rice is grown between the months June-Nov, wheat
between Feb — July and Jowar between Oct-March. Each crop takes 3 months from sowing to harvesting. At a time only

one crop can be grown. / T faT= forafira sirad= & 3 Bl SITaT @ -arad, T SR SR | 91ad SH-"dax
e & 19, Bras iR Jars & da g, STgar-UTd & d1d saR ST STt 81 Th® Baa | gars | Hels
¥ 1T 3 7 od § | U 90T § had UTH B SIS o gddl Bl

If the farmer sows Jowar in January, when can Wheat be sown at the earliest? / Uﬁmﬁm = | W@Tﬂ %’, @
g B! STeg A Sieg $d 9147 S Thdl 82

L April/3'|'aﬁ
* May/¥%

® June/S[d
U March/qﬁf

Correct Answer :-April / 30d

3)

Question Stimulus :-

()



Who founded the Mauryan empire? / T o™t Bt RITIET forem &1 <At

® King Dhanananda / XTSIl YIT-G

® Ashoka / 3N
° Vikramaditya/ﬁwm

® Chandragupta / ISl
Correct Answer :-Chandragupta / =&l
a)
Question Stimulus :-

In the following question arrange the given words in a meaningful sequence and then
choose the most appropriate sequence from among the alternatives provided below: /

Fafafad vy & e arfe w0 # <) @) TawT B3 3R 3TP ale A4 Ry v fawen § @ W Iuge
ST BT IIT P
1. Country 2. Furniture 3. Forest 4. Wood 5. Trees

1. Y 2. BHRR 3. 99 4. GHa! 5. US
e 1,3,5,4,2
e 1,4,3,2,5
e 2,4,3,1,5
e 523,14
Correct Answer :-1,3,5,4,2
5)
Question Stimulus :-

is a former Indian cricketer and an office-bearer of the Madhya Pradesh Cricket Association? /

, ud HRd fpder v Hen v frde WY ¥ Te eiRer 27
* Sanjay Jagdale / HoIg SRTGTA
e Rahul Dravid / YTgd K4S
® Jyothiraditya Scindia / SAIfaRT ¢ Rifemm

® Girdhari Lal Yadav / FRU @ret greg

@)



Correct Answer :-Sanjay Jagdale / I SRIGIA

6)
Question Stimulus :-

Ahmed is taller than Salim. Salim is not as tall as Ahmed but taller than Akbar. Sohan
too is not as tall as Salim but taller than Akbar. Who is the tallest? /Wﬂ?ﬂﬁ T daT %l
Wwwqﬁ%ww@w%l e ft welta R dar 78 § W1 Srper 4 o gl
Jgd |dT .

* Salim / JAH
e Akbar / 3®hd?

e Sohan /@‘5‘7{

e Sohan & Akbar / ¥g 3R 3r@aR
Correct Answer :-Salim / G ¥
7)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawea ﬂﬁ'&’,ﬁﬁ e ?@'
q T fer e Y F IET R

If Kajal is young then she will be selected for the job. / 3R BTelel gdl %?ﬁﬁﬁ%ﬁw
DT TG 51 S|

e If Kajal is not young then she will not be selected for the job. / 3R PIsid gdl H?ﬁ%?ﬁ
B3 & e 3T®T T9= =81 g

e If Kajal is selected for the job then she must be young. / 3fR &3] & 1€ S &1
T §3IT 8 o) 98 ga1 shft|

e If Kajal is not selected for the job then she must not be young. /WW%&N
STl T T TS) g1 2 ) I8 gaT 78 anft

* The job requirement cannot be matched by the old people. / F1&H & HiT g AN I
Ad el W1 gbdl |

Correct Answer :-If Kajal is not selected for the job then she must not be young. / 3R

A & T FHrore &1 9g+1 =81 g1 € <Y I8 ar gt gt |

8)

Question Stimulus :-

(4)



Who founded the “"Bachpan Bachao Andolan”? / “ddU+d T Sfigia” I RIAT fHeq o1 42
* Maneka Gandhi / HgTHT Mgt
® Teesta Setalvad / ST \‘:ﬂ—dﬁa'lg
® Kailash Satyarthi / Farr geardf
e Kiran Bedi/ fv0r aa

Correct Answer :-Kailash Satyarthi / =T FeaTdf

9)
Question Stimulus :-

Which currency note in India is mainly green in colour? / HIRd # ®9 d el A O =4 WP
gt 82

® Rs.5/ 5 Fo

® Rs.10 / 10 0
® Rs.20 / 20 ¥0
® Rs.50 / 50 o

Correct Answer :-Rs.5 / 5 %o

10)
Question Stimulus :-

Vice-President of India presides over / YRd & JU-IAFUR ____ HI ALT&AT $d 5
* Lok Sabha / ArGHT
® Rajya Sabha / ITSYYHT
® Vidhan Sabha / I8 T
® Union Cabinet / Ha1g HHSH

Correct Answer :-Rajya Sabha / IO HT

11)

Question Stimulus :-

Which one of these is the world’s third highest mountain? / 3_"I'ef '\ﬂ' ﬁq H §ﬁITIT T wﬁ rCi | qrdt %?
(5)



® Lhotse /c_ta'&ﬁ

® Kangchenjunga / AT
® Godwin Austen / TSI 3T
® Everest/ an

Correct Answer :-Kangchenjunga / a-Toi{T

12)
Question Stimulus :-

The figure at right represents an unfolded box with designs on several panels. Below are four drawings of boxes with

designs. When folded, which box will it be?/Eg'Ta"CR' ai@ﬁlﬁﬁmﬁﬂ?ﬁw%ﬂﬁﬁ%wuﬁma?%mw
IR et 7 | i fewms ard aRA $t IR S15A €] Wies &R W, Hid °T 9991 SN2

/
.

-

iﬁ e 5'0%3

Correct Answer :-

13)

Question Stimulus :-

Hindola Mahal is located at____ . /%@?ﬂ 'Flﬁ_ﬁ @ %l
e Seoni / g+t

(6)



® Naresar / TRIR
® Anukhana / 3<J@TAT

® Mandu/ TI'I§"
Correct Answer :-Mandu / {Ig

14)

Question Stimulus :-

Which of these is the second longest river in Madhya Pradesh? / 378 & ®IT It AT US| ¢RI deft 7St
44

® Swarna/ E'Uf

® Chambal / I

® Narmada / T'IﬂET
® Son/ @7-[

Correct Answer :-Chambal / I9d

15)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fovea T;{ﬁE
i 3T T Sy wd fAehul & 9 § 9 2

Statements: / DY:

Some detergents are soaps. / 9 f¥este qrg- %'I

All soaps are powders. / Lkl g UISs? %'l
Conclusions: / fApd:

I. Some detergents are powders / I. $S fSeoic UISST &

II. All soaps are detergents / II. 9t 9gH fSesic &
® Only conclusion | follows / Fad ey 1 Aeadr %
® Only conclusion I foIIows/WﬁWﬁf I e %
® Both conclusion land Il follows/azﬁ forepd 1 GﬁT II foad %

® None of the conclusion | or Il follows / forepd 1 a7 11 ® ﬁ El";']é '_-Iﬁ Froaar %
(7)



Correct Answer :-Only conclusion I follows / Fqa ey 1 feadr %

16)
Question Stimulus :-

A girl introduces a man as the son of the brother of her mother. How is he related to her? / Th F'K"»ﬁ Th Gﬂaﬁ Cal
¥ U8 Bede 34! ¢, 6 a8 SuS 7f & WIE 31 77 2| 98 N Fhu U Aafia 22

® Brother / HTS

® Uncle / dTTl

o Son/T

® Nephew / YelISIT
Correct Answer :-Nephew / HdIST
17)

Question Stimulus :-

Which of the following is NOT a motion in the Indian Parliament? / g 9§ 19 91 YRAY 99¢ &1 WRd1d G

&

® Adjournment Motion / BRI Y¥dTd

* Exit Motion / TR wRaTa

® No-confidence Motion / Glﬁ%'l'\q 'LGIC)

® Privilege Motion / fRwRerR waa
Correct Answer :-Exit Motion / FRTH W
18)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg faweu E[ﬁ'ﬁ,’,\—rﬁ TP DI TV
AT s FIar e :

It is not True that both Billa and Ranga won the match / I8 99 7¢I g & faean sk 3 g1
A= Sitar

e Billa won the match or Ranga won the match / fSea 3 8= Sfar a1 30 3 8= Shar

e Billa won the match and Ranga won the match / forean A 9 SfiaT SR 37 A A Sftar

(8)



e Billa lost the match and Ranga lost the match /ﬁwaﬂfﬂ?w Gﬁ'\'i'lﬂﬁilfﬂ'\’w

* None of the above / B'Qﬂ'clﬁ?ﬁé -’-IT;?[

Correct Answer :-Billa won the match or Ranga won the match / foremn 9 A= sfiar ar & A
B oftar

19)

Question Stimulus :-

The yoga system of philosophy was given by / E."QT:I' P INT yumen s gRT & Tlé 0
® Panini / ot
® Patanjali / UL
® Vyasa /H
® Kannada / PIAS

Correct Answer :-Patanjali / TSI ol

20)
Question Stimulus :-

Sarita is the only daughter of Vimala whose son is Pramod’s maternal uncle. How is Sarita related to Pramod? /

i, faaar 31 sedidl Tt 8, e o wie &1 arr 8] 9ivar wile 9 59 yoR deaftia 82
® Sister / dgH
* Mother / AT
e Son /T
® Grandmother / GGl
Correct Answer :-Mother / T
21)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 9§ fawe ﬂﬁT{
it f}E T Hu=Y ud sl F 9k § 9 2

Statements: / YH:
All boys are players / 94 & Q@S &

©)



No player is bad / 5 fGaS TR &l
Conclusions: / f=pd:

I. No boy is bad / I.®IS ASHT R Tl @

II1. All players are boys / II. 9} f@@S) as® &

® Only conclusion | follows / aﬁﬁﬁ'ﬁﬂf I FFreerar %

® Only conclusion I foIIows/aﬁﬁW i fereran %

® Both conclusion land Il follows/a:ﬁ ﬁlﬁﬂf I GﬁT I frped %

® None of the conclusion | or Il follows / g da 'ﬂﬁg ?Eﬁ IBEZSGIN %
Correct Answer :-0Only conclusion I follows / $ad sy I fererdr g

22)
Question Stimulus :-

‘Thermometer’ is related to ‘degree’ in the same way as ‘Clock’ is related to /

~wTdiey Hafta § foit & St v & e a¥g wst 9l § 599
e wall / §OR
* Time / WHY
® Hour / UUCT

® Needle / gé

Correct Answer :-Hour / 9YUCT

23)
Question Stimulus :-

Who has been the youngest person to have ever become a Chief Minister of any state in India? / P I FH

U URA & ot 59 & G a2
* HD Kumaraswamy /T S $HRATHI
* Akhilesh Yadav / a1 aTqa
® Mamata Bannerjee / HHdI CEN

® Omar Abdullah / 3HR 3feg &Il

(10)



Correct Answer :-Akhilesh Yadav / If&@= areq

24)
Question Stimulus :-

The largest coal deposit in Indiaisin ___ ./ HIRd H Iad CE| HIgam o4 T _ "el
® Godavari Valley / Tﬁﬂﬁ'& urdl
® Brahmani Valley / EI'IFTUﬁ urct
® Damodar Valley / E."IThET 'Eﬂébf
® Satpura Valley / Hd4sT Tt
Correct Answer :-Damodar Valley / GG TSt
25)

Question Stimulus :-

A farmer grows 3 crops in rotation — A, B, C. A is grown between the months Jan-June, B between May — September
and C between August-December. Each crop takes 3 months from sowing to harvesting. At a time only crop can be

grown. / T fopam= Forafird smad=1 o 3 wd STTAT 8- A, B, €1 A TGS -5 71 & i, 03 -Raar Fdiw
B 3R ¢ 3T -fRiaR F Fra3ms orell B 1 U wa § ga1s I Hers & Y 3 T8N @1d &1 Th q0a o
$Id TH Bd SIS ol APl gl

If A is sown in May, when will A be sown next?/'Q'%A'qgﬁTSﬁTﬁ GI'I?ﬁ'%,?ﬁ 3ITEN 9% A HF It SRl?
® January next year / 3T AT Sast H |
® February nextyear / 3Tl HTe BRas! A
® March next year / 3ITS T AT |
® April next year / 3T AT 3rie H
Correct Answer :-February next year / 3I7Tdl IUTel BRa] H |

26)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg faweg f{ﬁl’Q’,\—rﬁ TH BI i
CEICErEdC I ek S

If the pitch is not good then Sehwag will hit a ton. / 3R U= =3t 78] & @1 WgaRT a1 AR

(11)



If the pitch is not good then also Sehwag will hit a ton. / 3R fU= ersY T @ oY +ft
HEART &1 AR |

If Sehwag hits a ton then the pitch is not good. / 3RR JgaNT &= AR4T § a1 fug 3=t &)

gl

If Sehwag does not hit a ton then the pitch is good. / 3R FEANT & 8] ARar g o =
e

If Sehwag does not hit a ton then the pitch is not good. /Wﬂmﬂqﬁméa}
o ar=st 1Y 21

Correct Answer :-If Sehwag does not hit a ton then the pitch is good. / 37X HgdT ¢
81 ARar g @ i o=t B

27)

Question Stimulus :-

At the apex of Judicial system of India exists ./ HIRd $ [TII® goiment & Mo W _'lﬁq\'c{ %I

High Court / 3= STATAY
Panchayat Court / GATId <ATATT
Supreme Court / I=IdH ™I

District courts / FSTET =TT

Correct Answer :-Supreme Court / 3dH <ITTd

28)

Question Stimulus :-

In which of the following minerals is India not self-sufficient? / frafafea @fel & 9 fead yRa smefaR
T8l 82

Copper / GIEL
Iron ore / Pl ﬁ-']?T

Manganese / AT

Mica / YD

Correct Answer :-Copper / idl

29)

(12)



Question Stimulus :-

The CEO of Google is / T0Td & AIZail &

® Larry Page / o o

® Sergei Brin / I fo 1

* Sundar Pichai / & fUrag

® Satya Nadella / TcdT arSdr
Correct Answer :-Sundar Pichai / '\ﬂﬂ? ﬁars‘
30)

Question Stimulus :-

In the following question, four words are given, out of which three are same in certain
way and the remaining one is different. Find out the different one. / IRECRE] ﬁ, IR Teg fod
T g, R T 9 foft yoR @ 99 € o 919t U SITRT | 3ITRT aTalT JTd Bifei |

e Gold ;/ wuf
e Silver / didl
® Mercury / URq

e Aluminum / Qﬁ&lﬁ'ﬂ'ﬁ

Correct Answer :-Mercury / URR¢

31)
Question Stimulus :-

Under which ministry is the National Institute of Hydrology established? / o vaTea & agd o ICEIE] &
TP SR $1 RITGT $T 1A 52

® Ministry of Drinking water and sanitation / UgeTd SR S5 dT HaATe
® Ministry of new and renewable energy / TG4 3R TRy el daray
® Ministry of Agriculture and farmers Welfare / Tﬁf 3R fram=i & wearor HATAd

® Ministry of Water Resources, River Development and Ganga Rejuvenation / STel ST HATA, B

fapTa 37 T TR&r

Correct Answer :-Ministry of Water Resources, River Development and Ganga Rejuvenation / ST¢l ST
HATE, TG} FapT iR T TRaqor

(13)



32)
Question Stimulus :-

What is the total number of seats allotted to Madhya Pradesh in the Rajya Sabha? / TS HYHT T g W= & ford
oo fpadl e emafea g2

° 12

e 15

e 11

® 9
Correct Answer :-11
33)

Question Stimulus :-

Anitha, Mahima, Rajan, Latha and Deepti are five cousins. Anitha is twice as old as
Mahima. Rajan is half the age of Mahima. Anitha is half the age of Deepti and Rajan is

twice the age of Latha. / 3{T=TT,ATEHT, e, 4T SR ot ura o< 95 § | Sifrr, afgar § 99 &
g:l'—ﬁasﬁél I Bt 3T ARAT T el 81 SrfFur 3t 37 Sruet A o<t F SR I B Y a1 | SR
Who is the youngest? / a9 BIdl ®19 §2

e Deepti / Siudl

e Rajan/ 3o

e Latha / @Yl

* Anitha / 3ifyr
Correct Answer :-Latha / 4T
34)

Question Stimulus :-

CANCELLED

P,Q R, S, T, Vand W are seven members of the family. There are three female members.
Each of them has a difference profession-Lawyer, Chartered Accountant (CA), Engineer,
Teacher, Doctor, Architect and Pharmacist. .No Lady is either a pharmacist or a chartered
Accountant. Each of them has a different monthly income. The chartered accountant earns
the most. S, the engineer, earns less than V, the doctor. R, the teacher, earns more than P

(14)



and less than S. W’s wife earns the least. T is an unmarried lady Lawyer and she earns less
than P and more than only Q. The pharmacist’'s income is not thelowest / P, Q, R, S, T, V

3R W TP TRAR & 1Y Te &1 I9H A 14 3iRa & 3R STHT URMT 31 3= I

(C.A), 3, Riers, siaey, ﬁmaﬁvaﬁwﬁﬁmwwﬂeﬁwaﬁwﬁaﬁnmmé\wﬁ%l
mﬁﬁawaﬁmﬁmmwﬁﬁw% | 9} AWPR B 3T JaQ IGT 81 S SRR #Y s v
Siqex A oH A1 R Ree 1 ma P A TET 3R S A $H 81 W B Tal FI 3T Iad ®H A T fdaifea

T g 3R ITP! 3T P A FH 3R $ad Q A WISl g1 vy fAhdr 1 3y o $H 781 gl

What is P’s profession? / P &1 SIqUTd &7 82

* Pharmacist / 3Ny fasedr

° Lawyer/ﬂﬁﬂﬁ

e Teacher / Ru&®

e Date inadequate / SIcl am“m‘m%
Correct Answer :-Pharmacist / 3194 faghdr
35)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fowe qﬁrq

S 3T T $Y=T vd freesl & 9 § 98 )

Statements: / ®Y:

Most apples are oranges / IS A9 TR &

Some oranges are pineapples / $9 ¥ AT &
Conclusions: / fp:

I. Some pineapples are oranges / I. 99 3Hd™ \“R-I:\’%

I1. Some apples are pineapples / II. $9 AT FA %
® Only conclusion I follows / aﬁ'ﬁﬁ'ﬁﬂﬂf I FFreperar %
® Only conclusion Il folIows/WﬁWﬁf n fereear %
® Both conclusion land Il foIIows/?:?F'ﬁ forepd 1 Gﬁ? I1 ﬁwﬁ %
® None of the conclusion | or Il follows / a9 ﬂﬁ_s; qﬁf IBCASGI %
Correct Answer :-None of the conclusion | or Il follows / fpdfIarIIaa a»‘rs‘ Tl Mwadr %

36)

Question Stimulus :-
(15)



In the following question, there is certain relationship between the first two terms. Choose the fourth term from the
following options which has a similar kind of relation with the third term. / g uy ﬁ, 'Clga @ q'Eff ¥ g foasht
TR ¥ $Is gy 3| i el &  9vur ug g~ e TR ug & 914 St voR &1 WeEY 7]

Pen : Ink :: Pencil : ? / U1 = TR :: URYeT = 2
* Knife / QI
o Write / for@=T
* Lead / WS
® Chalk / T
Correct Answer :-Lead / &S
37)

Question Stimulus :-

If the sun is setting towards my left, which direction | am heading? / Wﬁ%'ﬂTﬁW'{{aT@T %, ?ﬁﬁﬁ"—\qm =
ST §?

® North /3T

® South/ afaror

® East/ QX

* West/Uf3#
Correct Answer :-North / 3T}
38)

Question Stimulus :-

One of the following instrumentalists played the Shehnai / Frafaled aesl 4 9 Udh Q'IET'I'Ig EEIG %
® Hari Prasad Chaurasia / 3'\& Tdlq IR
® Bismillah Khan / ﬁﬁ'c’_t'l'l'g ECIE |
e N Ramani / @9 LE |
® TR Mahalingam / & R ﬂ%’lﬁ"m

Correct Answer :-Bismillah Khan / f3Ieas @

39)
(16)



Question Stimulus :-

If Tuesday means a world war, and it’s not Tuesday today, then it's a world war. /afe
TIAAR &1 Haad U f9Y g 8, SR 3T HIear el 8, af a8 U@ 9y g 81

* True / gl

e False / Tdd

e May be / HREG I

e Irrelevant / SUTARTS

Correct Answer :-False / Tdd

40)
Question Stimulus :-

Which of the following is the 'Marble Rocks City' of Madhya Pradesh? / g o @S9 e veR o1 TR

TSTI BT ST 82
® Orchha / 3RBT

® Jabalpur / SISy

® Murwara / 'E[aﬁT
® Seoni / it

Correct Answer :-Jabalpur / SISCIYR

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

What is the sum of xy, 2xy and 7xy? / xy, 2xy 3R 7xy I \—rl"kr,' w7 82
e 1ixy
e 10xy
e 10
e 73
Correct Answer :-10xy

2)
(17)



Question Stimulus :-

CANCELLED
A bookseller gives 16% discount on the marked price. What does a customer pay for an article whose
marked price is Rs.750? / T% Q&I [l FRIFd B TR 16% Fe ¢al & | Th UTeP TP avg & o forget
fifea va 750 TWA 7, F RrT a1 YIra= FHRar 82

e Rs. 845.50 / 845.50 TUY

* Rs. 645.50 / 645.50 $UY

* Rs. 745.50 / 745.50 TUY

* Rs. 545.50 / 545.50 TUd
Correct Answer :-Rs. 545.50 / 545.50 U4
3)
Question Stimulus :-

20! 20!
Evaluate 18! / 18 Hﬂﬂﬂﬁlﬂ:

® 390

® 380

® 400

e 395
Correct Answer :-380
4)

Question Stimulus :-

In a certain code language, Bring me water means Ki Pu Le; Don’t waste water means Do
Ki Ma; Bring that board means Le Tha Se. Which is the word for Bring in that code

language? / for<dt @ wis Hmw ff, Bring me water &1 Hddd ® Ki Pu Le; Don’t waste water &1
Hdeld % Do Ki Ma; Bring that board &1 Hddd % Le Tha Se | I His MO H Bring & ﬁl‘t{ T egg

2

(18)



* Do
Correct Answer :-Le
5)
Question Stimulus :-

? % of 750 + 125 =425/ 750 &1 ? %+ 125 =425
* 30%
® 35%
® 40%
* 32%
Correct Answer :-40%
6)

Question Stimulus :-

The speed of a car increases by 5 kms after every one hour. If the distance traveled in the first one hour was 45 kms,
then what is the total distance traveled in 7 hours? / WQ&' e W TPH BIR @t fd 5 foet aE'\_rl'ITﬁ %I fe
Ugd Ue H a9 DI T gut 45 flt i, @t 7 6 o qu ot 15 g | gl

® 400 kms / 400 Tordt
e 380 kms / 380 TerHt
* 350 kms / 350 foreT
420 kms / 420 Tepet

Correct Answer :-420 kms / 420 fpHt

7)
Question Stimulus :-

If 436A X 232 = 10B2D80 where A, B, D are representing a numeral, what is the value of A? / Elﬁ 436A X 232 =
10B2D80 ST8T A, B, D HBAT® §, a1 A BT HIH T BI?

(19)



* 3
Correct Answer :-5
8)
Question Stimulus :-

What should be subtracted from each of 9 and 3, and 16 and 4 to make them

proportional? / 9 3R 3, Td 16 3R 4 &) GUHUIAP 91 & T Uds & F 1 g =T

?

°* 5
Correct Answer :-2
9)
Question Stimulus :-

Complete the series choosing the missing letter/s: / AW 31&R FAHR STaAT DI [T PIOC :_
bcc _ac_aabb _ ab _ cc

® aabca
® abaca
® bacab

® bcaca

Correct Answer :-bacab

10)
Question Stimulus :-

The below series uses a sequence of alphabets and numbers. Identify the incorrect

combination: / 1R &I ¥ Y@@ eRl T =TS BT AIHH WANT B! 8| Ted JAoH Ugan=d|
(i) PQ1235AB5

(ii) PQ1235AB5

(iii) PQ1235AB5

(20)



(iv) PQ1253AB5

® i

® i

® jv
Correct Answer :-iv
11)

Question Stimulus :-

In the sequence shown below, which figure comes next? / -4 fewr 1 %4 #, srTel smpfa
®i= At gift?

{1

hl

Question Stimulus :-

Correct Answer :

12)

(21)



In a certain code language, You are watching cricket means Wa Cr Yo Ar; Cricket is a sport
means Yz Sp I Ar; You are a kic_l means Wa Cr Yz Ki. Which is the word for Kid in that code
language? / et @ wis yr ﬁ, You are watching cricket &1 Hdcdld % Wa Cr Yo Ar; Cricket is
a sport T HAAd @ Yz Sp I Ar; You are a kid 1 9ddd & Wa Cr Yz Ki | 33 @IS 4T # Kid & g
T I 82

® Wa

® Cr

®* Yo

e Ki
Correct Answer :-Ki
13)
Question Stimulus :-

-42-38+14-11+3=7?

* 64

e 84

° 74

® 54
Correct Answer :-74
14)

Question Stimulus :-

Find the average of all numbers between 100 and 180, which are multiples of 11? / 100

3R 180 & 7 #t Wt Twmait &1 Sivga fAerieg, ot 11 & Igqur e ?
e 140
e 145
e 143
e 138
Correct Answer :-143

15)

(22)



Question Stimulus :-

What is the minimum number of straight lines required to make the following figure? / IBE] Wﬁf P 91 & o
<IAaH G© A feaet At Yarsi it sraxgean g

NN
NZN
NZN

f

AN IN

° 24

e 18
* 36
° 14
Correct Answer :-14

16)

Question Stimulus :-

A can do a work in 16 days and B can do the same work in 12 days, working together. What part of the work they
can finish in two days? / A T BTH B 16 fo=1 H B Fpar & iR B It & &) 12 faAl & &% Govar g,
gfe 3 a1y fraes &1 #d g1 2 f&A & 3 B0 &7 faar U @1 HR 95d 22

9
37

L] =

ca| Ln

24

(23)
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!

2
Correct Answer :- 24

17)
Question Stimulus :-
Complete the series choosing the missing number: / AW J&T TAHR 4GAT HI TR PIOT :
6,11,21,36,56,

® 42

e 51

® 81

® 91
Correct Answer :-81
18)
Question Stimulus :-

If INSTITUTION is coded as NOITUTITSNI, how is PROCEDURE coded? / af¢
INSTITUTION &I NOITUTITSNI ¥ Sifgd fhur itaT 8, 91 PROCEDURE & 3 Sifsd fHar Siran
a2

e ERUDEDORP

e ERVDECORP

e ESUDECORP

e ERUDECORP
Correct Answer :-ERUDECORP
19)

Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY same as the one given below?

/ 79 3 T AR udl ° @ i 33 R ud & St wue S a1 v T8 82
Mr. I. K. Taneja
Flat No. 100

Triveni apartments

(24)



Pitam Pura
NEW DELHI-110034

INDIA

(i) Mr. I. K. Taneja
Flat No. 100

Triveni apartments
Pitam Pura

NEW DELHI-110034

INDIA

(ii) Mr. I. K. Taneja
Flat No. 100

Triveni apartments
Pritam Pura

NEW DELHI-110034

INDIA

(iii) Mr. I. K. Taneja
Flat No. 100

Triveni apartments
Pitam Pura

NEW DELHI-110034

INDIA

(iv) Mr. I. K. Taneja
Flat No. 100
Triveni apartments

Pitam Pura

(25)



NEW DELHI-110034

INDIA

® jv
Correct Answer :-ii
20)

Question Stimulus :-
In a certain code, COLLEGE is written as BNKKDFD. How is SCHOOL written in that
code? / {5l @RI ®is #, COLLEGE % BNKKDFD forar ST §, @ 39 ®is § SCHOOL &1 33
for@T sma?

¢ RDGNNK

e TBGNNK

e RBHNNK

e RBGNNK

Correct Answer :~-RBGNNK

21)
Question Stimulus :-

In the foIIowing qpestipn, one term in the number series is wrong. Find out the wrong
term. / 9 Uy ¥, H@IT 491 § TP U TAd & TAd UG I BRI

196,169,144,120,100,
® 100
® 120
° 144

® 196

Correct Answer :-120

(26)



22)
Question Stimulus :-

What is 25% of 482 / 48 HT 25% T 82
° 12
°* 14
°* 10
°* 13
Correct Answer :-12
23)

Question Stimulus :-

Two dice are thrown simultaneously. The probability of getting a total of 10 or more is / ?ﬁ mﬁwwuﬂ%wl G
TUTGAT & TBIT3HT BT Hl 10 T ST FTST 3ATT?

e 1/4

° 1/3

° 1/12

°* 1/6
Correct Answer :-1/6
24)

Question Stimulus :-

In a certain code language, I love cricket means Liv Da Bin; I love music means Bin Liv Zo;
I play music means Zo Bin Na. Which is the word for Music in that code language? / fodt
W BIS U ﬁf', I love cricket T Hddd % Liv Da Bin; I love music &1 Hddd % Bin Liv Zo; I play
music &1 AdAd § Zo Bin Na| 3 &I HTUT # Music & T =1 Tise 82

® Liy

® Da

® Bin

(27)



Correct Answer :-Zo

25)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬁlﬁ &R AN G B T ﬁﬁrq ta_c_abb_a_bc
_bc_ab

® chcaaa
® hcccab
® bccaac
® achabc

Correct Answer :-hccaac

26)
Question Stimulus :-

Two dice are thrown simultaneously. The probability of getting more than 10 is / ?ﬁ' mﬁwﬂw%ﬂm C2)
HUTGHT § F& AT 10 A FTGT 3A?

e 1/4
° 1/3
* 1/6
* 1/12
Correct Answer :-1/12

27)

Question Stimulus :-

4 3 9 43 9
[E+i]of:’7+1:x1__l [§+i]gfi,1:x1__l
A p A g A . a
simpliy © ° - - 3,2 9 35 3 43 Himadfu

3
o 4
1
6

(28)



| —

L | b

1
Correct Answer :- 6
28)

Question Stimulus :-
Complete the series choosing the missing number: / AW TWAT DR SGaT B GRT HIfoC :

3,7,15,31,
® 60
® 65
® 62
® 63
Correct Answer :-63

29)

Question Stimulus :-

Ramu brought an article for Rs. 300 & sold it for a gain of 15%. What is the selling price of the article? /
M 300 IUY B Teb g AT 3R 15% ATH & I 97 311 avg &1 fawt qea w1 82

* Rs. 345 / ¥UU 345
* Rs.350 / ¥UU 350
* Rs.360 / ¥UU 360
* Rs.340 / ¥UU 340

Correct Answer :-Rs. 345 / ¥UU 345

30)

Question Stimulus :-

A train covers 400 meters distance in 24 seconds. Its speed is?/ T® ¢+ 24 A& d 400 Hiex
Bt g8 T Bl ¢ 1 IABT T 82
(29)



® 30 km/hr / 30 Tt /€eT
* 45 km/hr / 45 fopuit /der
e 60 km/hr / 60 foHit /5T
* 75 km/hr 75 foHl /€er
Correct Answer :-60 km/hr / 60 foHt /gaT

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-

Birds such as wood peckers have sharp pointed beaks to penetrate easily into the tree trunks so that / ﬁts' & a1 Pl

TIEAT A Hed & T Fowisar 99 ufdral & a9 goia 9 gid € a1fe
® Force is concentrated in a small area / 9 Th @% 833[ 'Ry 37@?[ 33[
® The area of the pointed beak is larger than its head / aﬁﬂﬁ' 9T Caj Z‘aﬁ m IE:Kd '\q' Iticg 3}
® Force is concentrated in a large area / d¢ Th a% ?33 L°03 a"@ﬁ 33[
® Pressure exerted is small / <RI T qId PH 3’[
Correct Answer :-Force is concentrated in a small area / 9 Th B a_ﬂ L'C3 %@H ?f
2)

Question Stimulus :-

ABCD is a parallelogram with AB=7 cm and BC=5cm. The perimeter of the parallelogram is

3 / ABCD U® JHIaR IgUe & 9T AB=7 Tl 3R BC=5 Tt &1 39 TR Igs &1

e 24 cm /24 9t
e 12cm /1294t
* 35cm /359
* 24m /24 #H

Correct Answer :-24 cm / 24 9Ht

3)

Question Stimulus :-

(30)



Study the following graph carefully to answer these questions: / $1 U TS & 1%1"’{ Eic]
AT T AT &1 N A T B

Nuniber of students studying Arts and Connnerce in an
institute over the years
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What is the ratio between the total number of students studying Arts and Commerce together in 1999 and in 2001

respectively? / 1999 iR 2001 # 3T 3R HIUH TH TTY UeA aTd BT BT SJUTd HHART: HT AT?
® 8:9
® 15:19
® 11:15

* None of these / S7H d $I5 w8l
Correct Answer :-None of these / T8 § ®I3 T8I
4)

Question Stimulus :-

Mamatha, Geetha, Meera started a business with an investment in the ratio 1: 3: 5. After 4
months, Mamatha invested the same amount as before and Geetha as well as Meera
withdraw half of their investments. The ratio of their profits at the end of the year is: /
T, War, TRT 9 1:3:5 & U | 9% ¥ T SATUR &1 Y31 D1l 4 HSHI & U, Yd & v 7war
A U A = fear vd fiar & gry-arg @R 3 ot e | 9 enur Rrera forar | 94 & oid A 39

AT BT U §
® 5:6:10

® 4:3:5

® 10:5:6

(31)



® 6:8:10
Correct Answer :-5:6:10
5)
Question Stimulus :-

Which of the following objects cannot be charged easily by friction? / BUEE:] I a] Ty & GIRT ATHTAT
q Sl =g F &1 Tl 72

® An aluminium rod /Q?J'Fﬂﬁ'qﬂ' I B8

® Aninflated balloon / §aT & U §3IT T&ERT

e A plastic scale / WReP B T

® An ebonite rod /QT'SI:FI'IBE' &I ¥S
Correct Answer :-An aluminium rod / TeHIT-IH &1 B
6)

Question Stimulus :-

Musicians tighten the strings to tune their instruments to / T{laHR A T I & JR BT
e & i s9% 9R &1 a4 § a@ifd

® |Increase its pitch / m IRa | q@ ?f
® Decrease its pitch / m TR H HH! E;T
® Decrease the rapidity of vibrations / HHT Cd| gddl A HHY ﬁ
® Produce a shriller sound / drelt gy S SBI
Correct Answer :-increase its pitch / $9P dRed H giex @l
7)

Question Stimulus :-

Study the following graph carefully to answer these questions: / §9 U4l &T 3R ¢4 & forw =
fou T UTE BT wH A AT B

(32)



Number of students studying Arts and Connnerce in an
institute over the years
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What was the average number of students studying Commerce for the given years? / ﬁ'ﬂ,’ R 18 aut § SrEd 'q%ﬁ ard
B DI 3fa I A A

® 675
® 716
® 765

* None of these / SH q 1S A8l

Correct Answer :-675
8)
Question Stimulus :-

Study the following graph carefully to answer these questions: / §9 U4l &T 3w ¢4 & forw 4=
fau 1T YT &1 Wi I iHTT B
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Nuniber of students studying Arts and Connnerce in an
institute over the years
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If the number of students studying Commerce in year 2000 was increased by 20% and the number of students studying Arts
in the same year was decreased by 10%, what would have been the total number of students studying Arts and Commerce

in 20007 / Tf¢ T 2000 H BT U ITd BHET PI T@AT 20 Yfa=ra Fe1 <t W1¢ 3R I a9 & odH ued I
BT Bt BT 10 TG T TeT < T, 99 T4 2000 T S 3R HIUH U 910 ST B Fo TSI F97T gRIT?

® 1285
® 1385
® 1275

® None of these / Eﬁﬁ?ﬁﬂﬁ

Correct Answer :-1275

9)
Question Stimulus :-

A sum of money becomes 8 times of itself in 3 years at compound interest. The rate of interest is: / Th ARTIRT W@

TS U 3 9uf § 99 P 8 T 8l el 81 TS B & &8s
® 100%
* 8%
* 1%
® 10%
Correct Answer :-100%

10)
(34)



Question Stimulus :-
How many parallel tangents can a circle have at the most? / ot qd IR Sfrepay feat Ty o=t WTE 'E?f godt

g2

® |nfinite / 3Hd

°* 2
Correct Answer :-2
11)

Question Stimulus :-

Floor tiles, used for laying floor in houses, are made up of which unbreakable polymer material? / W | R

T ¥ T wef $1 erzd, i sige sgae verd @ &+ gt @2
e pop /Gi3idt
* Clay /it forgt
® Thermoplastic polymer / YHIGITEH TgAD
® Melamine polymer / HETHIZ Sga®
Correct Answer :-Melamine polymer / HETHIST g

12)
Question Stimulus :-

Study the following graph carefully to answer these questions: / 37 U4l &1 3R ¢4 & forw A=
fou T WP &1 S | U BN
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Nuniber of students studying Arts and Connnerce in an
institute over the years
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During which of the following years was the percentage increase/decrease in number of
students studying Arts from the previous year was the minimum? / g d @ 59 af & k=
3T g a1 Bl &t GBI & Uiawd | gfs a1 H4t s ad ot ga-n § =gHad Ai?

® 1998
® 1999
® 2000
® 2002

Correct Answer :-2002

13)
Question Stimulus :-

When you do a haircut you do not feel the pain. Why? / 5§ 3(T0 STl P Hedld @ dd 3ATUD! &S HeqH T8l
giar 81 & i?

® Because the uppermost layer of skin is dead. /m T B '\‘Iﬁim Hd fﬁ?ﬁ %l
® Hair strands have dead cells. /awﬁ' & ?‘Iﬂ | Hd CAIRIEID] Eﬂ?ﬁ ?I
® The complete skin consists of dead cells. /ﬂ"‘luf <O § Hd CAIRIEAD ﬁ'ﬁ%?f @T‘ﬁ %I
® The hair root has no nerve cells in it . /E'IT'ﬁ @t ) i | aﬁé GIECAKAIREAR] qﬁ T;aﬁ_cﬂ %.I
Correct Answer :-Because the uppermost layer of skin is dead. /aiﬂ'ﬁ? = DY H_Cﬁﬁ[ﬂﬁ? Hd Eﬁ?ﬁ %I

14)

(36)



Question Stimulus :-

The power of an earthquake is expressed in terms of a magnitude on a scale called / ‘J-E?C[ W1 o B IIRHTOT &
Tay # TP ATUHH W T fpT SITdT @ S peardl &

® Fahrenheit scale / Wﬁﬂ'&!‘l’s’ﬁ YT
® Kelvin scale /%%T-T YT

® Richter scale / e 'a'FI'HT

® Decibel scale / SRyew TAFT

Correct Answer :-Richter scale / F¥&eX THMET

15)

Question Stimulus :-

Silvery white Sodium metal is a very reactive metal. In which liquid should it be stored to prevent its reaction
with air? / T¢ AIdl TFETR oTg 954 2 Frar=ita urg |1 a1y & |1y 9! ififehan &1 Aepq & fore
9T f6d 5a # Ius fopar e =nfeee

® Kerosene /ﬁl’é’f &1 ad

® Water / oTd

® Alcohol /Qﬁﬂﬁﬁ

* Dilute Sulphuric acid / TIPd TCRIND 3T
Correct Answer :-Kerosene / g} &1 9@

16)
Question Stimulus :-

Temperature is defined as / TTHHTA 3| H UPIR uRyTRa far %’ :
® Measure of Degree of coldness / 3s ! f&3f & uru
® Measure of Degree of hotness or coldness / T a1 S5+ fo3ft &Y 5
® Measure of Degree of hotness / mﬁﬁ %‘zﬁ @t °HIY
* All the above / JURIFT Tt

Correct Answer :-Measure of Degree of hotness / T $t f&3ht 3t Ay

17)
(37)



Question Stimulus :-

Study the following graph carefully to answer these questions: / g1 Ui FTIW ed & fore =
AT T TE &1 O™ A T BN

Nuntber of students studying Arts and Connnerce in an
institute over the years
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Approximately what was the percentage increase in number of students studying Arts and Commerce together from

i§97t02002?/1997®2002Wmaﬁ?$‘mﬁ@mﬂuﬁmﬁmﬁ%mﬁm¢mmﬁq@§€

® 115

e 55

® 75

® 125
Correct Answer :-125
18)

Question Stimulus :-

During breathing, the diaphragm is pushed up during / 499 ¥, S &1 f5g SRE
U YT Sl B

® TInspiration / IBCRE]
® Expiration / ﬁm T
® Rest/ fayma

® Exercise / HATATH

(38)



Correct Answer :-Expiration / 9= Jumfay

19)

Question Stimulus :-

The main concern over the use of CFL is that / HUGTd & IUaNT # wy@ fiar &1 fowa ug & f
* it is not durable / Ug R AT &
® it is very costly / g dgd agt 3
® it consumes more energy / I8 ATUP Hotl JUHIT Fcdl §
® it contains mercury which is toxic / W UIRT gIdT & i fater gar &
Correct Answer :-it contains mercury which is toxic / 39® URT gidT & SN fatan giar @
20)

Question Stimulus :-

Select the type of carbohydrate that can be digested by ruminants but not by human. / 3 ﬁlﬂ%ﬁ@ﬁ Dl U

FIRTT &t Tide gRT Tg WHdT § W A4 §RT 81
* Sucrose / $& RTHRT
e Cellulose / ST
* Starch/HS
* Glycogen / TATSHISTH
Correct Answer :-Cellulose / ST
21)

Question Stimulus :-

When Amoeba senses some microbe,it pushes out pseudoppdia around it and engulfit
which is trapped in a / 59 3FfST O YgAeal B HeYH Pl &, I8 UaTH $I 30
TRY 3R FpTerar @ 3R gervia &1 uRUgur i g o & 3OH BT §

® contractile vacuole / mﬂ It
® food vacuole / dT<l INCSEd]

® vesicle / STd TpIfedhT

® gasvacuole /'ﬁq INESE

(39)



Correct Answer :-food vacuole / TT€] fefaaesr

22)
Question Stimulus :-

If0 = & < 90°, the maximum value that cos & cantakeis___ /dfdo0 = -

90°, 9 cos © @1 afiwaw ur feram =1 gar B

Correct Answer :-1

23)

Question Stimulus :-

Fishes, frogs etc lay eggs in water. The sperms shed by males, reach the eggs to form zygote. Name the kind of
fertilisation / TSTerdl, Hewd Tfe ol A 3fST &d &1 7R §RT BIS T I[HIY] 33 TP Ugd B I BT
o 73 §1 9% fovw yoR &1 e 82

Internal fertilisation / 3rafye fFue=
External fertilisation / STg3t A==
Invitro fertilisation / UT3 fer8=M

® Post fertilisation / IGLEGIRE

Correct Answer :-External fertilisation / 9Tg3! o=

24)
Question Stimulus :-

Which of the following statement is true? / Ffad Ao T HYT 99 %?
e Two lines may intersect in two points / & Y@1Y, g sl w gy g gt €
® Every ray has a finite length / PUEH ﬁﬂ'ﬂﬁﬂﬁ'l‘sf '\‘:ﬁﬁﬁﬁ?ﬁ%

e Three lines are concurrent if they have a common point / d9 ¥@¢ W gidl € afe 399
% fog swafie

(40)



. (%)nly a single line may pass through a given point / f3T 7T fig & Rk te gt Y@ Tor daal

Correct Answer :-Three lines are concurrent if they have a common point / 9 Y@¢ I

gl § afe 379 U fig Suaiie §

25)
Question Stimulus :-

The unit’s digit in the product 274 * 318 ¥ 577 * 513 is / 274 * 318 * 577 *
513 UFGA § SHTS BT 3P 3

Correct Answer :-2

26)

Question Stimulus :-

If , then the value of x is / afe 3 , df x BT 9=

Correct Answer :-4

27)

Question Stimulus :-

The cell theory was proposed by / PIRAPT ﬁ’l&'l?f 3713? GRT UITIUT 91 TI':% j]
® Robert Hooke & Leeuwenhoek / IqC B8P AR ﬂﬁ%ﬁﬁ

(41)



® Schleiden & Schwann / 3@33_"[ 3R o
® Robert Hooke & Schwann / Jd¢ §& 3R Y9

® Schleiden & Leeuwenhoek / Qﬁ%?ﬁ[ 3R R]\a%}h?

Correct Answer :-Schleiden & Schwann / TS 3R Y19

28)

Question Stimulus :-

The perimeter of a semi circle of radius ‘r’ is . /ﬁ\_rEIT v FH G{QIQH T URATY %

m‘l,-’z

=]

o T

Correct Answer :-"

29)
Question Stimulus :-

Litmus, a natural dye, is and extract of / {IcHd, T UIHfa® ™®, IR & TIPT -

® Chinarose / dIg-l sl

* Beetroot / HGY
® Lichen / F‘l'lgarvf
® Blue berries (jamun) / SITHA

Correct Answer :-Lichen / @IS

30)
Question Stimulus :-

is not a perfect cube. / TS 3SR 9 el 2l

e 2197

(42)



* 1458
e 1331

e 2744

Correct Answer :-1458

$
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